UG/CBCS/B.A./B.Sc./Programme/6th Sem./Economics/ECONPGE2/2022

34 §F

ke

kG e B R
UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 6th Semester Examination, 2022

GE1-P2-EcoNOMICS

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains paper GE-2A, GE-2B and GE-2C.
The candidates are required to answer any one from three courses.
Candidates should mention it clearly on the Answer Book.
GE-2A
MACRO ECONOMICS

GROUP-A / {@i-3 / 9 &-&

I. Answer any four questions: 3x4 =12
-G BTG @t Ted nies
Gl IRACT YeABwdh] IR [SIBIN:
(a) What is the relation between GNP and NNP?

GNP '€ NNP-&7 (&) 718 9
GNP 31«1 NNP 9131 & < B ?

(b) What is demand pull inflation?

pifenieiee JurFifs Fce [ @RI 2
ART URT ERWIfT M9dT & &1 2
(c) What is liquidity trap?
SRR T 0 [ Q@R 9
TRAATRT URAT 9-h! b & 7

(d) What is transfer earning?

BB A BICP T 2
C
RJTETANTT HHTS Yh] & Bl ?

(e) What is the relation between marginal propensity to consume (mpc) and
autonomous investment multiplier?

e (ool eFerel € Fage R e ey 71 [ 2
AHT=T ST YgRT (mpe) AT W@ Faer qUreHrsT & 96 B 7

(f) Why classical aggregate supply curve is considered as vertical straight line?

o7 Org ANMET @9 @A BFd @l I @ T 79 9
RATT Fo SMYfe TS b SISl Vel Y@l Ao 2
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GROUP-B / Rert-4/ wg-@

Answer any four questions 6x4 =24

-1 DIATG eved Ted wie
Gl TRACT YeAEwdh] IR (S8

2. Discuss briefly the concept of circular flow of National Income. 6
S I 2N LR FREFC SN 41
g MDA YATEd! JEROT IR e = =i TJar |

3. Explain Say’s law of market. 6
G FAfFS (7-93 g SN F91
A B gOIR A @R THEN |

4. Discuss characteristics of Keynesian consumption function. 6
(PR (Ol SR (12T HcToa 41
BIDH] SYANT Hed! [ARmares @@l TN |

5. Discuss briefly the concept of inflationary gap with suitable diagram. 6

urRIfed AT AiRells ez 3¢ 741
SUYh YQIF Aled GERWBIfTP! SRIAD] FAERON =1 T84 |

6. Distinguish between Demand Pull and Cost Push inflation. 6
bifzwt oo @ 7 Jfaeis JErFifea g g 4

AT URT @1 arTd URT GaremIfomrst urRied T |

7. (a) Show that mpc + mps = 1 3+3
&9 <4 mpc + mps = 1
mpc + mps = 1 8 9l SESIeY |

(b) If mpc = 0.75, then for a change in autonomous investment (AI) of Rs. 100 crore,
what will be the change in national income (AY)?

I mpc = 0.75 X, CIUFE TGS [ T 100 @I 6! Jiar 16051 e SR
T wAfzsniel 3 woc ¢

IfE mpe = 0.75 9Q, I W@ 999 (AI) A1 Rs. 100 HRI€ ®I gRad Y,
RIS M (AY) Hia uRacd g ?

GROUP-C / Tetat-at / @8-

Answer any fwo questions 12x2 =24
A-FA 715 &teiE Ted wis
$1 ggacl UeEvd! IR AN
8. (a) Briefly discuss Value Added Method of measuring national income. 6+6
ISR I #AfNCof 36T TS Aahofs FKCFC Sl T
R M AT I Sirs A FereAr == Ta9 |
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(b)

10.

11.

(a)

(b)

(c)

(d)

(e)
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What are the difficulties of measuring national income?
SIS S ~IfRieer spyRiatefe & & 9
T 3T AT HISARES & & g1 7

Explain, how equilibrium output and employment are determined under classical
theory.

IR ©F SN I SO W € FoREW Wdiae afemnt [Rosme w41
TRATT RAGTTAT Fford IR 31 ISR Byl MR §98 IR a9 |

Critically discuss Liquidity Preference theory of Keynes.
R W 15w ©gfb G 41
BADH] TR AEHAM RAGIT FATAATHD SYAT =i e/ |

Critically explain income census method of measuring national income.
ISR S #AfCof SR I A ioa FACOAETS [eazed w1
RIS T ATYFDT AT T A FHAIAATHS SYAT ARAT T804 |

GE-2B
INDIAN ECONOMY

GROUP-A / [Ron-% / 9e-®

Answer any four questions from the following:

fafeiie @-eI b1afe @eis Ted nies

Gl IRACT YeABwdH] IR (ST

What are components of money supply?

wd QNG SAmimee & 9

HaT 3MY[IDhI TCHeS & B 8 ?

Why RBI is known as ‘Lender of last resort” of commercial banks.

RBI & (&7 40Ea (17 B Aol I T (& 2

ARENATE s b a1y Arhsoa! Mk ‘sif<w e |f o ?
Discuss any two social security measures adopted by the government of India.

OICS %2 @-(FI 71 AN aierel 35 Srad T4

AR WRGRERT Y8V TTRYBT P Ggacl AMIGH GRel SURES ar gl

THEN |

What do you mean by CRR?

CRR 3#Ce & @R 9

CRR 9=TTel & gfers ?

What do you mean by industrial disputes?
a1 Rcaiy Fetce I @Rl e

e faare ¥=1rel & gf3eo ?

12

12

12

3x4=12
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(f) What is variable reserve ratio? 3

ARG TN TN Sl fF 9
gRad! gRférd (& arura “=aer & =1 ?

GROUP-B / Reri-4/ wg-@

Answer any four questions from the following 6x4 =24
fmferids @-FF o176 etiE Tea wie
Gl TRACT YeABwdh] IR (S8
2. What are the causes of industrial dispute in India? 6
wlacs R R sl i & o

HRTHT 3T fdaredT HRIES & & g ?

3. Discuss the broad objectives of Indian planning. 6

OO s Sy SEn F9

AR ATSTAD] BRIBAT IgeIeoh] qRAT =al TJaid |

4. Discuss briefly, how RBI controls supply of credit in the country. 6
RBI FSI@ ¢! 4o @i fom@et S5¢d, Gife IREFCH A 41
ARG o SIET I AYfIcAls b R T8 9= HRITHT Bahd
‘Iﬂé q |

5. Discuss various social security measures adopted in India. 6
olace 521 fifen Al fomierel a2l T2/ FKEHC SICEmA F41
IRAHAT T&T TRUST A= AT GRefTenT SuTIes @@l T4aid |

6. Examine the main problems faced by the small scale industrial units. 6

Fuie« RCsE el AP SicEsal 9
Y TN UhlResel AT T4 &I AFRATES O T8 |

7. What are the main functions of RBI? 6
RBI-@3 @i Frerafs i & ¢
RIS HT = fhATES & & T °
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10.

11.

(a)

(b)

6031

GROUP-C / faetal-at / 3qg-1

Answer any fwo questions from the following 12x2 =24

fwferiie - 7f6 et e e
%1 geacl UTAEvd! IR [SIB

Discuss briefly the achievements and failures of Five Year Plans in India. 12
SIRACSA AN AT AT @ GO T @ T4

ARTHT YHauT ATSTATRT SUSH T X JAHAIES IR FIeraH T =l T |

Distinguish between Small Scale and Cottage Industries. Discuss the role of 4+8=12
Cottage and Small Scale industries in India’s economic development.

FUITE € FOoI e T 2N Ffiaet 591 orced wltafes Snae Fw @ $o1 fHiew
SR S 41

g 31 HER IS URiR e | IRAH! e fabraar R A
oY SETTEvP! DT w4 TR |

Discuss the characteristic features of Indian Planning. 12
OI00F ST 2IFFFHIR 51 e S F41
ARG 37 ATSHTRT faRyares ==l T4 |

Write short notes on: 516l (#143 BIT fewofl oz ;: 6+6
(i) Industrial dispute in India (®RC® Ms1 Reix) R 3fenfire faarg
(ii) Open market operation. ((RISTRISIR FIFA) Geell TR TR=ATAT

GE-2C
PUBLIC FINANCE

GROUP-A / [Ron-% / 9e-®

Answer any four questions from the following: 3x4=12

fafeiie - b1Afe @eis Ted nies

Gl IRACT YeABwdH] IR (GBI

What do you mean by Public debt?

FRFIA ol FTCe (& @I 9

AT T A=l & s ?

What is the main difference between external and internal public debt?
A @ Sreresel SFPIN AR S I 2N fF 9

eI 3 JATIRD AGGDh UMM Dl & H~ar & &l 2
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(c) Mention three examples of indirect tax.

AT FEF [0 SwiRgel TS |

JIIET BB ICT IATERVED Iooied MBI |
(d) What is market failure?

ez ol [ 9

qoTR fawerar ¥91d! & & ?

(e) What do you mean by Externality?

JifrFe! @ ie F @R 9
e 9T @ gfers ?
(f) Which type of good is known as Public good?
(I G0 TP TP T I R 9
BRI UHRD! THIels AMGI~Tdh 9 Al ?

GROUP-B / Reri-4/ @ g-@

Answer any four questions from the following 6x4 =24

femferie @-iw 51af% e Tea wie
Gl TRACT YeABwdh] IR (S8

2. Establish the relationship between Public good and Externality. 6

I T @ RO Wy Il ferefiarel w91
ATt ¥ 3T aTE=IdT ATET T wRnfid TN |

3. To what extent existence of externality is responsible for market failure? 6
Jeria Lo T AfRFolR SR il Fob! wift I W F9 9
JOIR fqwerdrd! R i sa=1 qreardmd] ARde SRR © ?

4. Discuss characteristics of a good tax system. 6
S T4 IR Fo el ([af¥iEy Sicewa 741
A PR YUTTelD] [RITATES BoAhd Ta |

5. Briefly discuss the notion of Pareto efficiency. 6
ACACE! 278 WOl REb FEFCo! FCo T4
URET SeTard! STaERON FareH T =@l THad |

6. Critically explain ‘Ability to Pay’ principle of taxation. 6

39 iR “aRfeB § oo welba sicamanTe f[es=ed 4
DXTEHDT HhlA &HAT R‘IcQ'ICICbI STATIATcHSD BYHT UTET ’ﬂg N |
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7. Discuss some of the merits of indirect taxation. 6
AR P SR HR SN )
Y PRBT Dl JIUES BAbhd THar |

GROUP-C / fetal-at / 33qg-71

Answer any fwo questions from the following 12x2 =24

fwferiie - 7f6 et e wie
G geacl YISl IR [SJB

8. Critically discuss Benefit Principle of taxation. 12

9 e ‘@RS welba [Resd 41
PRSI ™ G SIS SYAT i T84 |

9. Give some arguments for and against the direct and indirect tax system. 12
OTF @ AT 9 JIE 2I0F ¢ 7ACH I mie)
TgeT 3N 3Ue] PREvdh] UeHT 3f fRIEHT oel dabes Qe |

10.  Does internal Public Debt create any burden on the community? Give reasons in 12
favour of your arguments.

SrereRiel TR el & TACea T (@I Q@RI R FC 2 (IR Terwd T I mie)

D ARG Aol O] FHSIAT AR GOl T8 ? U] dheod! (M |
PRUTED aﬂg T

11. Write a note on Fiscal Federalism in India. 12

ORCed JSANG 9 IO T @I (6 BIFl @141
IRaAT faxfr defrarrel feuoft oegeRg |
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